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3. sin lxty) = 2×-24 point (-11,1-1)
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Variables
Let ✗ = Distance between Train and station

2- = Distance between Bob Contain) and Sally
D= Angle of Bob's Head Rotation from Track Line



Given ¥z= -2 Radians / second
Find d¥= ? When -2=13 meters

Equation tano =

Differentiate

¥ tano = 9-+10×-1
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Extra Solvable Information

✗ < 4312-11012 = 169- too = V69
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Solve

¥+= 1b¥# ¥%=
'% mlsec

Answer

The train is travelling ¥ meters
every second

at that moment .
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Max height
7-

See ?
^

Equations of Motion

✓

alt/= - 32 Given : V10) 80ft / see
✓

v ✓ It)= -32T¥ vltimpact )= - 112ft / see
impact ?

Slt)= -161-2+09%+50 Find : So = ?

Impact :

Vltimpaot)= -321-+80 -9+-112^
9 321=192

timpact __ 193-22=6 seconds

Plug t impact = 6 seconds into position and set equal too

That is
,

sltimp.at/--sl61--Os(
6) = -161612+80 (6) 1- So = 0 note : so only unknown

- 576+4801-50=0
336

- 961-50=0
¥6

⇒ so __ 96 feet 3%-6

Answer : The building is 96 feet tall


